HuoBE mEa3)

(1) 8m? = ocm?
(2) 2a = om?
(3) 9a = ocm?
(4) 9cm? = pmm?
(5) 3a = om?
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HuoBE mE13)

(1) 8m?2 = 80000 cm?

S

Im? =1mxlm
=100cmx*x100cm
=10000cm?

£2T. 8x10000 = 80000cm?

(2) 2a = 200 m?

<fREt>

la  =100m?

£2T. 2x100 = 200m?

(3) 9a = 9000000 cm?

<fEER>

la  =100m?

Im? =1mxlm
=100cmx*x100cm
=10000cm?

1alE10000x100 = 1000000cm?
£2T. 9x1000000 = 9000000cm?

4) 9cm? = 900 mm?
<fFE>
lem? =lcmxlcm
= 10mmx10mm
=100mm?

£2T. 9x100 = 900mm?

(5) 3a = 300 m?
<#R3t>

la =100m?
£oT.3x100 = 300m?
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